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@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?
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@ 4a = 400m? @ 2000a = 20ha
® 6km? = 6000000 m? @3500000 a = 35km?

® 780000m? = 78 ha

@ 1km? = 10000a °|E&2
3500000 a = (3500000 + 10000) km? = 350 km? ¥ c}.
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(7t=29] dol)= (150 + 2) — 35 = 40(m)
(o] Yo])= 40 x 35 = 1400( m?)
la=100m?2 °]|E2 1400m?2 = 14 a




D 26 + 25 = 1.04

@ 23 +24 =0.95833 - - -
® 76+ 75=1.0133---
@ 124 + 125 = 0.992
® 21 +20=1.05
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= 18.75%0.4 = 7.5(m)
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1875 X2+ 75 =375+ 7.5

= 45(m)




